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Answer any four questions from the following (10x4 =40)

(a) What is Sociology of Industry? Analyze various factors responsible for the

emergence and development of Industrial Sociology. 10
(b) Express the meaning of Industrial Dispute. According to your understanding what
measures can be taken to reduce industrial disputes in India? 10

(c) Industrialization is a prime factor of social change in human society. On the basis of
this statement briefly explain the impact of industrialization in the structural and
functional aspects of Joint Family in India. 10

(d) Do you think that the various provisions available in the Factories Act, 1948, actually
helps the employees to protect themselves from the exploitations done by the
employers? Justify your answer. 10

(e) Discuss critically the rise and growth of Trade Unionism in India. 10

(f) Discuss critically how occupational stress often can influence the workers not only
physically but also psychosocially. 10
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